SC Series Cylinder




SC % 7% 2 R éx 8
SC Series Standard Cylinder luo -

AHTEStroke)

B CHFE( Stroxe)
Oos
oT E F G
e
1 /S
H N TN

(
_®
®

W

J-sEERIE Butter nut)
4EIE(Side’s breadth) = —— .

w e

L
M10*1.25 M6*1.0 PT 1/8
M12%*1.25 M6*1.0 PT 1/4
M16*1.5 M6*1.0 PT 1/4
M16*1.5 M8%*1.25 PT 38
M20*1.5 M10*1.5 PT 3/8
M20*1.5 M10*1.5 PT 1/2
M27%*2.0 M12*1.75 PT 12
M27%*2.0 M12*1.75 PT 12
M36*2.0 M16*2.0 PT34/PT1R2
M36*2.0 M16*2.0 PT 34
M36*2.0 M16*2.0 PT 12
M36*2.0 M16*2.0 PT 34

32019 4T R~ HEH




SC Fg 4+ LB
SC Accessory: LB Foot Mounts

&
X 5 @
|
TE )
< =
r Y $
A0
Center Of Cycinder
V4
/
5 ==
4| =« H H
11 I I I I |
r AG AG
b ~ AC+Stroke el

A A +Stroke




SC r4F CA

SC Accessory: CA Male Trunnion

Os
aT
3,
= - 015




SC r4F CB

SC Accessory: CB Female Trunnion

[
L L I:IT
i1 f .I-"\."'n lL.'

—-—— | s,

PAL
PEI

1




SC Fg 4+ FA
SC Accessory: FA Flange

BF

C3F

BC
|— !

GE




SC M4 [&Y #:88

SC Accessory: Rod | End & Rod Fork End

15588 Y 1EBE
re =/
S =/
\!{: E‘-:'._.". MNH
b ! 4
—— / /
N — ;
— : - F
, ; i
&’_/{ L ST W ===
- ?\‘ J - P .‘:I
NF —
NH
g T T
/ - e
.:-'.r.' T T 1__1____—: /-' } :x.| =
=y NI — o = - o8
l |
NG
\_E
FA

NH
M10*1.25
M12*1.25
M16*1.5
M16*1.5
M20*1.5
M20*1.5
M27*2.0
M36*2.0
M36*2.0




SC r4F TC

SC Accessory: TC Center Trunnion

EB

PRz

EE
OED

@EP
EC




